
Since we are evaluating , h(-7), use 
this expression because it is the 
one that goes with x<-3 



Your “V”
shape will 
be upside 
down at 
the max of 
(-2, 7)

(-2,7)

y=-4

x-int. is where it crosses the x-axis 
and y =0
Set your equation equal to 0 and
solve.

0=2(x-3)2 – 4
4 = 2(x-3)2

2 = (x-3)2

2 = (x-3)2

± 2 = 𝑥 − 3
Now solve to get 2 answers for “x”



x=-3 x=5



−𝑏
2𝑎

Height of the ground is 0 so set 
the equation = 0 and solve.

0= -16t2 + 80t
0= -16t(t -5)
-16t = 0 & t-5 = 0

EVEN

ODD

Can’t =0



The value of g(x) will be put 
into f(x)

• Take the expression with 
the x value in it and 
make it g(x) then rewrite 
f(x) using just “x”




